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2 / - = 2 X 2 Y 2 2 x 2

Id’ ha es
=32

Evaluate 2’ X 3’.

Solution

2’ X 3’ = 2 \ 2 X 3 ‘ 3
,‘ =36
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2. Simplify.

(a) 3 X 2’
(c) 2 X 42

(e) 22 >< 3

(g) 3: x 2
(i) 2 / +‘

(b) 3 2< 2
(d) 2 2<

(0 22 2< 31

(h) 2’ 2< 4
(j) ‘ X 3

(a) 3 2< 3 2< 3 2< 3 2< 3
(b) 2 x 2 2< 2 x 2

(c) 5 v S x S

id) .< 4 / a 4

(a) the third power of 2

(b) the fourth power of 3
(c) the second power of 5
(d) the fifth power of I

(e) the sixth power of 0

(f) the second power of 16

7. Write each number as a power of 10.

(b) 1000
(d) 1 000 000
(f) 10 000 000

(b) 16
(d) 256

1. Write the salue of each,

(a) 22 (b) 21 (c) 2’

(d) 32 (e) 3’ (f) 3’

(& 42 (h) 41 (i) 51

6 Ealuate:

3. For each power. what is the base? the

exponent?

(a) 2’
(d) 34

(b) 3

(a) 100
(c) 100 000
(e) 10

8. Write as a power of 2.

(c) 2 (a) 4

(e) 52 (c) 64

4. \\rire each xpresslon as a power. 9. Evaluate.

(a) “ -- 2’

(c) 3 2< 2’

10. Evaluate for x 2.

(a)

‘a

(b) a’ — 2’
(d) 322<2:

(a) Ia (b) (c) v
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p e aa

‘it - 1 is? a • — a..irHr Umn intl

Ue • ;‘ ar:rn to remember host to multiply or divide integers.
Th. . nil signs a shown here Cu remember the rnlc’. In the eumplcs and pnctise

.“ ,.
—; is stritten as

. 2. - —ID ( 10; • 2 ‘5 ii)( 2) — —10 (—10)4-1—2) 5

‘5) ‘2 ‘10 (‘10 (‘2) ÷5 j Ss’-2, — 10 (-r1O( 2) 5
i:.. iQ% VS ‘U .‘ irtixr d ‘f ‘.r t sin’’ i’ ptnc ;n,g..r

L¼ample 1
I iIJ( 2’.

Solution
3( 2)— 6

Rnmple 2

Calc.ulate( 2).

Solution

( 2)’=( 2)( 2)( 2)
= -8

Frample 3
Find(-18)+( 3).

Solution
(-18)+( 3)=6

1. Find eat.h product.

(a) (—3)(2
(c) (4)( 3)
(e) (5)14)

2. Simplifr

—2(—1 (b) —3(8)
(d —51—9 (e —41—9)

3. Find each quotient.
(a) -18 -( 6)
(c) 51 -( fl
(e) 1$+(18i
( (it) • ‘ 12’

4. ‘impltS.

(a) (hI

‘di

a

(a) 2(_3)2

(c) 5(—3P
(a) _3:(_)i

(& ‘S’( 31

7. Cakulate.

(a)
(c)
Ce)
‘g)
Li) ci

8. t :t ‘•I :r

‘a) - ‘ • — —

ib) —W 4-.

(d)’ i’

(f) j:.

(h)

-a

(b) C
(d)(
(f)(

e)( 9)
7)( 3)
2)C’)

(c) 5(—9
(f) —4gq1

(d) (—5)’ (a) —5- (f) 43

(g) —4’ (h) (—2)’ (i) (—3)-

6. Simplifr

Rnmpla -

—3’—” = —316’

_____

Calculate
5 a, -(
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48

(b)
(d)
(f)
(h)

(I,) 4(-”l)’
(d) (_3)2(_2)2

(1’) (5)’(—2)’
(h) I j):( .3)24+6

42£ ‘14)
—2-. +
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N!
\Vhen calculating expressions. we follow the order of opetations:

Order of Operations

1. Simplify brackets.
2. Then simplify powers.
3, Multiply and divide,
4. Then add and subtract,

Example 1

Simplify
—3(2 (—24-4).

Solution

—3(2 — 4) —

= —3(-2) -

=6-2
=4

Example 2

Add (— 3) to the product
nf—2 and 4.

Solution

( ——2)(4) —
= (—2)(4) + 9

-84-9

1. Simplify. Use the order of operations.

(a) 5 — (3 — 4)
(b) (5 — 7) — (3 — 4)
(c) —3(—4) — (5 — 7)
(d (3)(2) - (3+ 5)
(e) —(5 — 9) — (—2)(2)
(f) (4 — 3) — 2(3 — 4)
(g) 4(—2) — (—8 + 4)

2. Simplify.

(a) 2(—3) 4(—2)
(b) —4(—2 — 3(—4-
(c) (—3—2— (2—-4h
(d)5(—2-41—2(—4--- i
(e)2( 1-3 1 3
(f)5 2) 3-1
(g)3—1 2-::
(h) 3(2 1) i3 2:

(i)4c1—3i’c
(j) 21 -3 5

3. M.tch each cspresinr s tic
cnrre’.’ondmg enttnce.

b)

(c3 Subtract —8 from the product of —3
and —2.

(d) Divide —8 by —2 and add —3.
(e) Decrease the quotient of —8 and —2

by —3.
i. —3(—2) + (—8)
ii. —8 ÷ (—2) + (—3)
lii. —8 ÷ (—2) — (—3)
iv, —8 - (—3) + (—2)
v. ( 3)( 2)- (-8)

4. Increase the sum of —3 and 5 1w - 6.
5. Divide the sum of 7 and —16 by —3.
6. By how much is thc sum of — S and 6

more thar 4?
7. How mu h less s tI un ot

tian thc pr din 14 nd 2
8. Divide —i- by —2
9. Add 3- and f to the rrodu.i. -

10. 1rreas t pi in.

11. B hoe. nuj.1 ( 3 — - nu tinr

(—2 + 4)
(2)

20 Rrnr,. Ess S’ -‘.‘ reoc — I
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